
            present simple of to be

       positive statements

Verbformen  

Fill in the gaps with a correct form of the verb to be.

1. I ________ 0,912 It ________ am
;

is

2. We ________ 0,236 I ________ are
;

am

3. I ________ 0,195 She ________ am
;

is

4. You ________ (sg) 0,916 We ________ are
;

are

5. We ________ 0,107 They ________ are
;

are

6. It ________ 0,913 We ________ is
;

are

7. She ________ 0,675 We ________ is
;

are

8. She ________ 0,819 It ________ is
;

is

9. You ________ (pl) 0,631 You ________ (sg) are
;

are

10. She ________ 0,036 You ________ (pl) is
;

are

11. He ________ 0,983 We ________ is
;

are

12. We ________ 0,198 You ________ (pl) are
;

are

13. He ________ 0,187 She ________ is
;

is

14. He ________ 0,063 You ________ (pl) is
;

are

15. They ________ 0,725 I ________ are
;

am

16. It ________ 0,386 You ________ (pl) is
;

are

17. You ________ (pl) 0,566 I ________ are
;

am

18. It ________ 0,767 They ________ is
;

are

19. They ________ 0,084 You ________ (sg) are
;

are

20. You ________ (sg) 0,247 It ________ are
;

is

21. You ________ (pl) 0,964 They ________ are
;

are

22. I ________ 0,829 You ________ (sg) am
;

are

23. They ________ 0,177 He ________ are
;

is

24. I ________ 0,439 He ________ am
;

is

25. He ________ 0,505 It ________ is
;

is
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